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Solve the linear equation system. Use the Gaussian Elimination algorithm.

10y + -7z = 28
a) Y
80y + —65z = 170
Ty 4+ 2z = 0

b) 56y + —20- — 28

2)

Solve the linear equation system.

by + —82 — -8
) gy — 40
b v + -9z = =29
) 32y + 772 = 257

3)

Solve the linear equation system.

—Tx1 + 929 + —10z3

) —Tr1 + —x9 + —2x3

Y98y, o+ 24wg 4+ —2a3
—28¢r1 + —44x9 + Hdxs
—dx1 —3x9 43

15z 5% ) —1

2021 2029 —2

4)

Solve the linear equation system.

- -
+ +

201 4+ H2z9 + 3las
+ -

Txs

lzs

621 + —9x9 + —6z3

dr9 +  4dxs

a) —42x1 + T3x9 + 5Hbxs
—24x1 + 16x9 + 44xj
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+ Txy
+ DT 4
+ —1lzy
+  30x4
—2x4
10z4
—40x4
—48xy

+ 4+

—d14
6x4
451y
—25x4

+
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123
73
—170
146

—42

139

-5l
—383

57
—10
—371
127
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3x1 + =8z + 4dxs + —d5r4 = 3
—3r1 + 162 + —23 + 94 = -39
) 91y + 5lps + ldzg = 295
—6x1 + —16x0 + —30x3 + 32x4 = 482

Good Luck!
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